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3426 2 3 2 2 6 4 2 3 1 20
3427 2 4 2 4 6 2 2 2 1 20
3428 1 4 1 4 6 2 2 2 2 1 21
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0,35 %~ W~ 5 8L5 Wk

] S 5L oL V_fork Ve
35-1+PsU 1,3,5,13,15,21,23, 25 3,13, 15 3
35-1+PsY 1,3,5,13, 15,21, 23, 25 3,13,15,23 4
35-2+P:X 1,3,11,13, 15, 21,23, 25 3,13, 15,23 4

35-3+PsX(1) 1,3,5,13, 15,21, 23, 25 3,13, 15,23 4
35-3+PsX(2) 1,3,5,11,13,15, 21, 23, 25 13, 15,23 3
35-5+PsU 3,5,11,13, 15,21, 23,25 3,13, 15 3
35-5+PY 3,5,11,13, 15,21, 23, 25 3,13,23 3
35-6+PsX 1,3,5,11, 13,15, 16, 18, 21, 23 3,13, 15 3
35-11+PsX 1,3,5,11, 13,15, 21, 23, 25 3,13, 15,23 4
35-15+PsX 3,5,11,13, 15,21, 23, 25 3,13, 15,23 4
35-18+PsU 3,5,11,13, 15,21, 23, 25 3,13, 15 3
35-18+PsY 3,5,11,13, 15,21, 23, 25 3,13,15,23 4
35-21+PsU 3,5,11,13, 15,21, 23, 25 3,13, 15 3
35-21+PsY 3,5,11,13, 15,21, 23, 25 3,13,15,23 4
35-22+Ps1.(1) 1,3,5,11, 13,15, 21, 23, 25 13,23 2
35-22+P1.(2) 1,3,5,11, 13,15, 21, 23, 25 3,13 2
35-22+PsU 1,3,5,11, 13,15, 21, 23, 25 11,13 2
35-23+Ps1.(1) 1,3,5,11, 13,15, 21, 23, 25 3,11,13 3
35-23+P:1.(2) 1,3,5,11, 13,15, 21, 23, 25 11, 13,23 3
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= 1=3=13=23=15
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P.X BRI 3=>15=25=23=15=13=1=3
=13=11=21=13=23
35.3 2,3,2,6,3,2,4,2) 21=23=25=15=13=1=3=5 21
P.X(1) §RRRE 3=5=13=21=23=25=15=1
3=>1=3=13=23=15
153 2,1,2,2,6,3,2,4,2) 21=>23=25=15=13=1=11 22
P:X(2) BRI 3=5=13=15=25=23=13=
1=11=13=21=23=15
B S 5 BB 7 Lonayx / T3 B (B 12) Amax
355 (4,2,2,6,4,2,2,2) 11=3=5=15=25=13=23=21 21
N 3=5=15=3=11=13=21=23=
fs0 Mo 13=15=23=13=3
DESS B A 7 Linax /B3 Bl (B2 45) Amax
155 (3,2,2,6,3,2,4,2) 21=23=25=15=13=11=3=5 21
P.Y F FhRE 3=5=13=15=25=23=21=13=1

1=3=>13=23=15
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B S5 B E 7 Loy / T 3- Bl (B 15) Amax
e 2,4,2,2,4,4,1,1,2,2) 21=23=1=5=3=1=13=11 21
3=1=13=3=15=23=21=11
P-X % % g
> B —13=15=5=3
E‘]l‘/ﬁngj}{, )i ﬁ‘ );IJ Lmax/g‘\‘ﬁ-gl(&'jf—) Amax
- 2,3,2,2,4,3,2,4,2) 11=>1=3=5=13=21=23=25=15 22
P-X 4 g 3=1=11=3=5=13=15=25=
° ) R 23=501=513=523=>15
3515 (3,2,2,6,3,2,4,2) 21=23=25=15=13=11=3=5 20
3=>5=13=15=25=23=21=13=
P:X e @
° j LR 11=>3=>13=>23=15
B S5 B 7 Loy / T 3- Bl (B 15) Amax
3518 4,2,2,6,4,2,2,2) 11=3=5=15=25=13=23=21 20
) 3=5=15=3=11=13=21=23
P-U + 2 e
° PSR —513=515=23=513=33
B % BB 7| Loy / T3 Bl (B 15) Amax
3518 (3,2,2,6,3,2,4,2) 21=23=25=15=13=11=3=5 20
P.Y 3 R 3=5=13=15=25=23=21=1
° ) S 35 11=>3=13=23=515
3501 4,2,2,6,4,2,2,2) 11=3=5=15=25=13=23=21 20
P N 3=5=15=3=11=13=21=23=
5U F i‘iﬁ'\'f—g]

13=>15=23=13=3
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=3=5=15=13=11
35.23 2,3,2,3,6,2,2,2,2) 21=23=13=5=3=1=11 22
S1I=211=13=223=21=13=2=
P.L(1) J ERRE 3=1=11=13=23=21=13=25
15=13=5=3=11
35.03 (2,2,2,3,6,2,2,3,2) 3=>1=11=13=25=23=21 22
= = = =
P.L(2) § BRRE 23=21=13=25=23=13=15

5= 13 =1 1=>1=3=>11

(5 LIEE 7 T4

19 < Ay < 22
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